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FTHUHIR . PARx 2 WTOPR®BDB®E®DO®O® INO®D@®®®®D®
HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s
HDCPFRE: (B) -5.0 (%) -5.0
JIIE 432 B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
B B b5 = 48] 50| 98] 30.0] 68.0|AB 616 [=W  #0L 47| 41| 88| 16.8] 71.2 12161 |7B&8 IEF 49| 47| 96| 24.0] 72.0
£l (BE BX 40 38 78] 9.6| 68.4|AE 6201 |[ER RE 52 42 94| 22.8| 71.2 122461 |F 1L EfE 49 47 96| 24.0| 72.0
L i RB 1| 43| 84| 15.6] 68. 4 AB 63 =% M= 40| 35| 75| 3.6] /1.4 1230 |BREB & 51 45| 96] 24.0] 72.0
A |ER —4% 41 41 82| 13.2] 68.8|AE 6461 |[FAR B 39 42 81| 9.6 71.4 12461 |HE HE=& 54 541 108| 36.0| 72.0
5 | HE B= 74 38| 82| 13.2] 68.8|AB 656 Bk BE 38 43| 81| 90.6] /1.4 1256 & KR— 70| 37| 71| 4.8] 712.2
66 | ARAT XHR 40 41 81| 12.0] 69.0/|AE 666L |BIl  &AT 39 42 81| 9.6 71.4 1266 | BF  Jsk 44 39 83| 10.8] 72.2
76 |AA EBE— 37| 37| 74| 4.8 69.2|AE 6/ |tk B— 1| 40| 81| 9.6] /1.4 1276 |MA_ RE 71| 42| 83| 10.8] 72.2
84 MR shth 37 42 79 9.6| 69.4|AE 68 A BE 42 45 87| 15.6| 71.4 IEEEIET] 41 42 83| 10.8| 72.2
G ERETS 47 44] 01| 21.6] 69.4AB 60T |[E5 =— 46| 41| 87| 15.6] /1.4 120f B 2 2] 41| 83| 10.8] 72.2
1062 [/ fli— 52 51 103| 33.6| 69.4|AE 106 |HB = 44 43 87| 15.6] 71.4|AE 1304 | K45 shE 44 39 83| 10.8] 72.2|AE
1 /NA  B— 38 40| 78] 8.4] 69.6 7 BHF M 47| 46| 93] 21.6] /1.4 137f |@iy A H 75| 38| 83| 10.8] 72.2
1260 | R —4% 34 37 1 1.2] 69.8 1260 |k B 34 34 68| -3.6| 71.6 13241 |Fxm #E1T 46 43 89| 16.8| 72.2
136 | A¥ X8 37| 40| 77| 7.2] 69.8 136 [ A# X8 37| 37| 74| 2.4 71.6 1336 |[hH S 74| 45| 89| 16.8] 72.2
141 |[BH EE 43 40 83| 13.2| 69.8 AL [#HH EE 40 40 80| 8.4 71.6 13441 |1k E7 50 45 95| 22.8] 72.2
1567 |§H Bj 42 4 83| 13.2]| 69.8 56 [#EH EE 39 41 80| 8.4| 71.6 13561 [{fEBk BTl 51 44 95| 22.8| 72.2
166 |%EH EE 4 4 82| 12.0] 70.0 1660 & FZ 38 42 80| 8.4 71.6 1366 [t28 #2HA 44 51 95| 22.8] 72.2
176 [T = 40 42 82| 12.0| 70.0 T |FEH sk 4 39 80| 8.4| 71.6 13761 |8y HE 48 47 95| 22.8| 72.2
1861 [/NEF IRE 42 40 82| 12.0] 70.0 186 [AL BBIE 43 43 86| 14.4| 71.6 1386 | RA ZEAE 48 47 95| 22.8] 72.2
1967 |tk BARER 44 44 88| 18.0| 70.0 196 [REIE B8 40 46 86| 14.4| 71.6 13962 [/M#R 1 E 49 46 95| 22.8| 72.2
2060 [fRER 3CF 40 35 75| 4.8] 70.2|AE 804z [luA [& 42 44 86| 14.4] 71.6|AE 140462 [BJ& BHF 44 51 95| 22.8] 72.2|AE
26 | KB BF 37 38 75 4.8] 70.2 81 |%R FE 40 46 86| 14.4| 71.6 14146 [PfH * 49 52| 101| 28.8| 72.2
26 |[=F HE 40 40 80| 9.6 70.4 824 |HS B 45 4 86| 14.4| 71.6 14241 [#HB EBEA 35 35 70] -2.4] 72.4
236 |HE = 38 42 80| 9.6/ 70.4 83 |HEH EF 46 40 86| 14.4| 71.6 14361 |ER —4% 39 31 76| 3.6| 72.4
(4 |FH 5 40 46 86| 15.6| 70.4 844y |¥AH FAE 46 40 86| 14.4| 71.6 144460 | KRB B 42 40 82| 9.6| 72.4
25 |EHE: B 51 47 98| 27.6| 70.4 851 [ILA FE 47 45 921 20.4| 71.6 14561 [HTF #A 44 38 82| 9.6 72.4
2600 |ER —x 40 39 79] 8.4] 70.6 864 |#2IL AR 46 46 92| 20.4| 71.6 14660 |F B = 4 4 82| 9.6| 72.4
2160 | RA &2 39 40 79] 8.4] 70.6 8161 |tk EA 47 45 92| 20.4| 71.6 147610 KA RLE 4 4 82| 9.6 72.4
286 |1 WBE 40 39 79 8.4] 70.6 88 |[{EAK s 47 45 92| 20.4| 71.6 14861 |[FH =E— 39 43 82| 9.6 72.4
2961 |BFH EER 38 4 79) 8.4] 70.6 8941 [flH Et 44 48 921 20.4| 71.6 14961 [BK ZEF 39 43 82 9.6 72.4
06 |HE [E 44 47 91| 20.4] 70.6|AE 906 |MEE EH 45 47 92| 20.4] 71.6|AE 15040 [%¥ =+ 42 40 82| 9.6] 72.4|AE
3L [fBA EX 40 38 78| 7.2] 70.8 9141 |tk &7 47 51 98] 26.4| 71.6 1514 |[fEHE E% 44 38 82 9.6 72.4
3241 [WiE Al 38 40 78| 7.2] 70.8 9241 |#THE EF 50 48 98| 26.4| 71.6 1524 |=A AR 38 44 82| 9.6| 72.4
33 EE  {ER 39 39 78| 7.2] 70.8 934 [RUL HA 38 35 73] 1.2 71.8 15341 [JIlE 7 40 42 82| 9.6 72.4
6 [BH EHE 38 40 78] 7.2] 70.8 R ES 4 38 79 7.2 71.8 15441 [Ny EH2Z 46 42 88| 15.6| 72.4
351 [ BRRR 4 43 841 13.2| 70.8 9% |[BK ZEth 39 40 79, 7.2 71.8 1654 [BAR A 47 4 88| 15.6| 72.4
366 |BA ERIT 42 42 84| 13.2| 70.8 966 |[#H BIL 38 4 79 7.2 71.8 1564 |[EHR F4E 45 43 88| 15.6| 72.4
3L |[fFE EE 4 43 841 13.2| 70.8 976 |AHE AF 39 40 79, 7.2 71.8 15761 |[BEH S F 44 44 88| 15.6| 72.4
38hr |ER RSB 43 47 90| 19.2] 70.8 9Bhr |EE A 39 40 79 7.2 71.8 15841 = 1iE 45 43 88| 15.6| 72.4
39 |HA EFEF 43 47 90| 19.2] 70.8 99 st EA 38 4 79, 7.2 71.8 1594 |HE Zi 50 44 941 21.6| 72.4
4061 ¥y RE 49 4 90| 19.2| 70.8|AE 10062 |EHE FE—ER 4 38 79 7.2 11.8|AE 16042 | R¥f HBFX 46 48 94| 21.6] 72.4|AE
M | KZ K 43 47 90| 19.2] 70.8 10146 [aldd = 37 42 79, 7.2 71.8 161462 [$BKR F5 51 43 941 21.6| 72.4
2261 | KB —% 46 44 90| 19.2] 70.8 1026 [IZ% BFHE 42 37 791 7.2 71.8 1620 |FE &2 51 49 100 27.6| 72.4
4360 |hE 8 45 45 90| 19.2] 70.8 1034z [#EH & 4 44 85| 13.2| 71.8 16342 [#13 E&F 47 53] 100| 27.6| 72.4
[ ES T 33 45 51 96| 25.2] 70.8 10462 [/l & 43 42 85| 13.2] 71.8 16461 /My B A 49 57| 106] 33.6| 72.4
4561 | K —%& 41 36 711 6.0/ 71.0 1056z [dbfE = 39 46 85| 13.2| 71.8 1660 |E&R —4% 35 40 75 2.4| 72.6
464 |)IlFE B 43 40 83| 12.0] 71.0 10662 |[#¥T F— 39 46 85| 13.2] 71.8 1666 |ERE —4% 38 43 81| 8.4] 72.6
4760 [ & 41 42 83| 12.0| 71.0 10762 | K45 1BX 46 39 85| 13.2| 71.8 16746 [EH FH— 41 40 81| 8.4| 72.6
A8 [/MNEF BEHC 44 39 83| 12.0| 71.0 1084 |HFE #Ef 46 45 91 19.2] 71.8 1684 |24 Sei= 42 39 81| 8.4] 72.6
4961 [BEAR T 37 46 83| 12.0] 71.0 10942 |NfE 1ERZ 48 43 91 19.2| 71.8 169 |BEH B2 39 42 81| 8.4| 72.6
506L |HhAT  BBAE 42 47 89| 18.0] 71.0/|AE 11062 [#REr =T 48 49 97| 25.2] 71.8|AE 17062 [ & 39 42 81| 8.4 72.6|AE
51 [IZEKX {518 42 47 89| 18.0| 71.0 1M1 [AX ER 35 43 78| 6.0] 72.0 17146 [E]R I 39 42 81| 8.4| 72.6
b2f  [EW BRE 43 46 89| 18.0] 71.0 11240 [A3 1EAHI 39 39 78] 6.0 72.0 RACETEE = 48 39 87| 14.4] 72.6
53 |HE FE 46 49 95| 24.0] 71.0 1136 [ME B 37 4 78| 6.0] 72.0 RECEETETS 46 41 87| 14.4| 72.6
441 [EAR  iE 47 48 95| 24.0] 71.0 114461 [#45 =1th 38 40 78] 6.0 72.0 17460 | KR B2 45 42 87| 14.4] 72.6
bbfr |[AHE i 45 50 95| 24.0] 71.0 11561 |ER —4% 43 4 841 12.0| 72.0 17561 |F#f R 46 4 87| 14.4| 72.6
5641 |#MAAX  FiiE 36 34 700 -1.2] 71.2 A 40 44 84| 12.0| 72.0 17661 | R #AX 40 47 87| 14.4] 72.6
5761 |AA X 37 39 76| 4.8] 71.2 17 B 5k 42 48 90| 18.0| 72.0 1776 |FElel &8 43 50 93] 20.4| 72.6
5841 [#IR shth 38 38 76) 4.8] 71.2 11861 ¥ ZH5 43 47 90| 18.0] 72.0 17861 &l ZE 44 49 93] 20.4] 72.6
509G [k & 40 48 88| 16.8| 71.2 11960 [EX (& 45 45 90| 18.0| 72.0 17961 |[FE8 F1T 46 53 99| 26.4| 72.6
6047 |[#ELL EBR 41 47 88| 16.8] 71.2|AE 12060 |#lE Hi 45 45 90| 18.0] 72.0|AE 1804 |BEH 158 37 37 741 1.2] 72.8|AE
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2003 &% 1 B 28 (H) ~2023%7 A83 8 (A
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FTEUHIBR : PARX 2 WO BEB®DO®® IN®®@®®®G®@®
HDCPEPR: (5) 40.0 (Z) 40.0 {EZ: EEIERL : NET-HDCP - £ RAH - Ao v kv sy
HDCPFRE: (B) -5.0 (%) -5.0

JIE 3z B ESR OUT |IN [GROSS| HDCP | NET =L iva B E A OUT |IN [GROSS| HDGP | NET [=Yiva HEE A OUT |IN |GROSS| HDCP | NET
1811 [’ BE 43 43] 86| 13.2] 72.8 24161 [BEE He2 40 43] 83| 9.6] 73.4 016 |AH &= 41 46 87] 13.2] 73.8
1821 [MEEF FIE 41 45 86| 13.2| 72.8 20261 | B—ER 44 39 83| 9.6 73.4 3024 |A)Il AE 45 42 87| 13.2] 73.8
183 [NH Ef 43 43| 86| 13.2] 72.8 20361 =) RBE 2] 41 83] 9.6] 73.4 303 (8 #MEB 47 40| 87| 13.2] 73.8
184 5@ & 42 44 86| 13.2] 72.8 46 FER FE 42 41 83] 9.6] 73.4 3046z |fFFT BHERE 47 45 87| 13.2] 13.8
185fz ;I = 42| 441 86| 13.2] 72.8 24561 /MR BB 45/ 44] 89| 15.6] 73.4 30561 [#L FA 4] A3 87] 13.2] 73.8
18661 [BEH HE 42 44 86| 13.2| 72.8 TS 42 47 89| 15.6| 73.4 30642 [3EHN #HF 44 43 87| 13.2] 73.8
1874 [#K B 40 46| 86| 13.2] 72.8 24761 [ BR BFE 421 47 89| 15.6] 73.4 076 |[BAR W 431 44] 87| 13.2] 73.8
1884 [{AlEy HE 44 42 86| 13.2| 72.8 24841 W% 1B 46 43 89| 15.6| 73.4 3084 [ithEH F0F 44 43 87| 13.2] 73.8
1891 [y HE 41 45 86| 13.2] 72.8 24941 |[ER  HRA 45/ 44] 89| 15.6] 73.4 309f |FHRE  EA 37 50 87| 13.2] 73.8
190 [f&fE R 42 44 86| 13.2] 72.8|AE 2506 [3EFH BREF 49 40 89| 15.6] 73.4|AE 31042 [1EE 78wl 44 43 87| 13.2] 713.8|AE
19112 | % 431 49 92 19.2] 72.8 25161 [HE W= 43 46/ 89| 15.6] 73.4 311 [IU% EFR 42 51 93] 19.2] 73.8
192 | KiF 8 44 48 92| 19.2] 72.8 25241 [#BJR &l 45 44 89| 15.6| 73.4 312 | RIE FEHE 47 46 93] 19.2] 73.8
193z [FE ZHsh 431 49 92 19.2] 72.8 25361 | RE REF 45 44] 89| 15.6] 73.4 313 A HH 451 48] 93] 19.2] 73.8
19461 [T FiF¥ 48 44 92| 19.2] 72.8 2544 [/ ME K 44 45 89| 15.6| 73.4 4y Bk BE 43 50 93] 19.2] 73.8
19561 [AIR &1T 48 44 92| 19.2] 72.8 2554 |FHEE 1§ 43 52 95| 21.6| 73.4 31561 [ZO M= 52 4 93] 19.2] 73.8
19661 [ 27 45 53 98| 25.2] 72.8 25641 |FHY @ 46 49 95| 21.6| 73.4 31662 |iZiB XA 44 49 93] 19.2] 73.8
19761 | = [ HE 46 52 98| 25.2] 72.8 2574 |2 BHX 46 49 951 21.6| 73.4 31746 |BH EY 47 46 93] 19.2] 73.8
1984 |[§0 EMZE 51 47 98| 25.2] 72.8 2584 |[JKE B 48 53] 101] 27.6| 73.4 3181 B = 48 45 93] 19.2] 73.8
19961 |[BEIR FH 49 49 98| 25.2] 72.8 2594 [JEdH ERA 49 58] 107| 33.6| 73.4 319467 (B F|Z 45 48 93] 19.2] 73.8
IV EE TS 52 52| 104] 31.2| 72.8| A& 2600 |ElEE =RiF 41 35 76| 2.4| 13.6|AE 3204 |[AHE —EB 46 47 93| 19.2] 73.8|AE
2016 [FR EA 37 36 73] 0.0] 73.0 26161 [=F = 38 38 76] 2.4] 73.6 321461 [{EE  BhIK 46] 47 93] 19.2] 73.8
202 |3EIR  BYER 40 39 791 6.0 73.0 2621 == ®E 39 37 76| 2.4] 73.6 32241 WA RF 49 44 93] 19.2] 73.8
20361 |[#AHE FEE 36 43 791 6.0 73.0 2634 |MA S 38 38 76| 2.4] 713.6 3236 |[EIR BB 52 47 99 25.2| 73.8
2044 |[ZK  FH—ER 40 39 791 6.0] 73.0 26461 | KAIN B+ 40 36 76| 2.4] 73.6 32441 |RR EH 51 48 99| 25.2| 73.8
205G MR S 40 39 79] 6.0] 73.0 26561 [IUF B 38 38 76] 2.4] 73.6 325 |BEH Fd& 50 55| 105] 31.2[ 73.8
2064 |RE;E UF 39 40 791 6.0] 73.0 26660 A & 40 42 82| 8.4| 73.6 3266L /MR IESE 55 50| 105] 31.2] 73.8
20741 |[BR BE 40 39 79 6.0] 73.0 2660 =K B 45 37 82| 8.4| 73.6 32/ [MAX B 37 37 741 0.0] 74.0
2084 |=)Il HEE 38 41 791 6.0] 73.0 2684 |&tE SEiC 40 42 82| 8.4| 73.6 3284 |1RiE BE 38 42 80| 6.0] 74.0
2091 |®RfE EiF 40 39 791 6.0] 73.0 2696 |&F%F EER 39 43 82| 8.4| 73.6 L ET S 38 42 80| 6.0] 74.0
21060 |#y B 40 45 85| 12.0] 73.0/|AE 2100 |== HZ 39 43 82| 8.4 713.6|AE 33042 [FJII FOA 42 38 80| 6.0/ 74.0/|AE
201 |mA & 41 44 85| 12.0] 73.0 2110 2R HF 44 44 88| 14.4| 73.6 331 |ER —4% 40 40 80| 6.0] 74.0
2124 |EH  Fal 41 44 85| 12.0] 73.0 21241 ;BB BE— 45 43 88| 14.4| 73.6 324z |ER —H 38 42 80| 6.0] 74.0
2136 | &H K— 41 44 85| 12.0] 73.0 21361 |*FH fE1E 42 46 88| 14.4| 73.6 333 R E=E 44 42 86| 12.0| 74.0
21441 [BR¥r 5L 41 44 85| 12.0] 73.0 21461 |AWL & 46 42 88| 14.4| 73.6 3346 [/MNEF R 43 43 86| 12.0| 74.0
21561 [{EHELL  FThE 41 44 85| 12.0] 73.0 21501 |3B%FH T 46 42 88| 14.4| 73.6 33bfiL [{E4&<AK 1EBR 4 45 86| 12.0| 74.0
21660 | AR 1R85 48 43 91| 18.0] 73.0 21660 |FH i 45 43 88| 14.4| 73.6 336fL |[=HE 38 48 86| 12.0| 74.0
20761 [FEAR  BEE] 43 48 91| 18.0] 73.0 217460 |5 s 45 43 88| 14.4| 73.6 3374 MR FREA 43 43 86| 12.0| 74.0
2186 |BHH E&E 44 47 91| 18.0] 73.0 218t [BR —F 47 41 88| 14.4| 73.6 338GL |[E4H JEIE 39 47 86| 12.0| 74.0
2190 | R 188 42 49 91| 18.0] 73.0 2191 [I7% K 41 47 88| 14.4| 73.6 339 [HEAKR BX 43 43 86| 12.0| 74.0
22000 |SHH  fEiE 46 45 91| 18.0| 73.0|AE 2806 |wH —= 42 46 88| 14.4] 73.6|AE M0 | FE W= 45 41 86| 12.0] 74.0|AE
21461 [k RS 47 44 91| 18.0] 73.0 2814z [RIE EBF 42 46 88| 14.4| 73.6 ML |HtkE % 43 43 86| 12.0| 74.0
22244 |[#2 K EEF 47 50 97| 24.0] 73.0 2824 |HEE B 49 45 94| 20.4| 73.6 34241 [kiE  FH 45 4 86| 12.0| 74.0
223z |fElL EEF 48 49 97| 24.0] 73.0 283 |FW E 47 47 941 20.4| 73.6 3431 |[hAR & 47 45 92| 18.0| 74.0
22441 [#EL EF 48 49 97| 24.0] 73.0 2844 [BR¥r Bhk 48 46 94| 20.4| 73.6 344461 [BRH < UF 46 46 92| 18.0] 74.0
225 |HF =E 36 42 78| 4.8] 73.2 285 | KM IFE 43 51 941 20.4| 73.6 34541 |3E;T  =HEH 42 50 92| 18.0| 74.0
22640 [ BBE 42 42 84| 10.8] 73.2 2864 B FEWH 47 47 94| 20.4| 73.6 66 A BX 47 45 92| 18.0] 74.0
2161 [ 3BFH BERF 42 42 84| 10.8| 73.2 28760 | HE— 46 48 941 20.4| 73.6 34741 [#AH BBk 47 45 92| 18.0| 74.0
22861 |ILZW BEX 39 45 84| 10.8] 73.2 2884 |FEIE E 47 47 94| 20.4| 73.6 34841 |1k BT 48 44 92| 18.0] 74.0
229 | EJR IEAH 37 47 84| 10.8| 73.2 28961 [RBER 8L 43 51 941 20.4| 73.6 34941 |[EExR {HEH 56 42 98] 24.0| 74.0
23061 |l ERF 42 42 84| 10.8] 73.2|AE 29061 | KE Bh 41 53 94| 20.4] 73.6|AE 350 |[= = 40 39 79 4.8] 714.2|A\E
23161 K RA 48 42 90| 16.8] 73.2 29161 |&HH H— 47 47 941 20.4| 73.6 b1 5O FZ 41 44 85| 10.8| 74.2
2324 [l &7 43 47 90| 16.8] 73.2 202(u |&IR 1E# 43 51 94| 20.4| 73.6 3524 |EFH EA 39 46 85| 10.8] 74.2
23361 |ZH H— 42 48 90| 16.8] 73.2 29361 |FEE R 47 53] 100 26.4| 73.6 3531 |HM #2 44 41 85| 10.8| 74.2
23461 |HH {EF 43 53 96| 22.8] 73.2 2441 |FiE E 50 50| 100| 26.4| 73.6 b4 2R T 44 4 85| 10.8] 74.2
2354 [/MAR BR 46 50 96| 22.8] 73.2 29541 |&ZH = 54 58] 112] 38.4| 73.6 b5 [JIIE FA 42 43 85| 10.8| 74.2
23661 |=F MBE 38 39 77 3.6] 73.4 296 |mA B 36 39 75 1.2] 73.8 3564 [k B 39 46 85| 10.8] 74.2
2311 |50 I 39 38 71 3.6] 713.4 29706 | & 39 42 81| 7.2| 73.8 3574 [[FK EE 45 40 85| 10.8| 74.2
23861 AR IEE 39 38 77 3.6] 73.4 R NEES 39 42 81| 7.2] 73.8 35841 AR BEZ 51 40 91] 16.8] 74.2
2390 AR @ 42 41 83| 9.6 73.4 299 |HE BT 41 40 81| 7.2| 73.8 35941 |[R& 1HHH 43 48 91| 16.8| 74.2
24061 |REIE IF2 40 43 83| 9.6 73.4|AE 30061 |=ir iR 40 41 81| 1.2] 713.8|AE 36041 |FHFEA ERAHD 46 45 91| 16.8] 74.2|AE
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SFSETA noF5oauR

2003 &% 1 B 28 (H) ~2023%7 A83 8 (A

WMBAER A IULRYT fE Lib-: * ok ok ok x * * ok ok * * %
FTHUHIR . PARx 2 WTOPR®BDB®E®DO®O® INO®D@®®®®D®
HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s
HDCPFRE: (B) -5.0 (%) -5.0

B4z B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
361 (IR BaF 46| 45| 91| 16.8] 74.2 PRI BA BFE 46| 49| 05| 20.4] 74.6 481y |&H JF 43| 44| 87| 12.0] /5.0
3627 |BEK T 47 44 91| 16.8] 74.2 42261 | RF = 47 48 95| 20.4| 74.6 48241 |FREY RIA 46 41 87| 12.0] 75.0
363 | HE B 41| 50| 91| 16.8] 74.2 B3 Ba =B 45| 50| 95| 20.4] 74.6 483 |EmE &l 40| 47| 87| 12.0] 5.0
36461 |JRHEH EEF 46 45 91| 16.8] 74.2 42461 |\[IR - FIRG 44 51 95| 20.4| 74.6 1841 [HH RF 43 44 87| 12.0| 75.0
3666 |mIAT  #az 46| 45 91| 16.8] 74.2 25T [ 1T 46| 49| 95 20.4] /4.6 485fi [FE F= 42| 51| 93] 18.0] 75.0
3660 |AH ME 45 52 97| 22.8] 74.2 42661 |[#EH EA 53 42 95| 20.4| 74.6 48661 [;BH F X 47 46 93] 18.0| 75.0
3676 |MH B 49| 48] 97| 22.8] 74.2 T 48] 47| 95| 20.4] /4.6 487 [IUAR ZH— 50| 43| 93] 18.0] /5.0
3686 |WNE fEIL 48 49 97| 22.8] 74.2 42841 |[HhFE BK 45 50 95| 20.4| 74.6 48341 |EH 5hBH 45 48 93] 18.0| 75.0
3607z |0 W 47| 50| 97| 22.8] 74.2 06 R ahk 54] 47| 101] 26.4] 74.6 480f: |fEH 2 6Q 44] 49| 93] 18.0] 75.0
30 |=H B— 47 50 97| 22.8| 14.2|AE 43061 |4 EEE 51 50 101| 26.4| 74.6| AE 49061 |FHIR BEE 47 46 93] 18.0] 75.0|AE
371 [0 Bz 50 47| 97| 22.8] 74.2 B [BH &z 49| 52| 101| 26.4] /4.6 4911 |[TEE =i 51| 48] 99| 24.0] /5.0
37261 [N E 3 50 47 97| 22.8] 74.2 4321 AR HEE 54 47) 101] 26.4| 74.6 49241 |RHE ZHad@ 48 51 99| 24.0| 75.0
33 | B8 HE 55| 48| 103] 28.8] 74.2 4336 [MH Ee 51| 50| 101| 26.4| /4.6 403 [l TH— 51| 48] 99| 24.0] /5.0
1M |[§H KEE 49 54| 103| 28.8] 74.2 434461 |HEAR  B5El 42 40 82| 7.2 74.8 49441 | KB FEiR 57 48| 105| 30.0| 75.0
356 |=F RE 38 40 78] 3.6| 74.4 43561 [ithiN  E—ER 40 42 82| 1.2| 74.8 495 |—/ 3 Z#E— 53 52| 105] 30.0| 75.0
3764 |Hfp = 40 38 78] 3.6] 74.4 4361 |[fERK BX 39 43 82| 7.2 74.8 49661 [FHY Flig 49 56| 105] 30.0| 75.0
A 45 39 84| 9.6| 74.4 43760 | XF Fif 4 4 82| 1.2| 74.8 497461 [EIE fiF 55 56| 111] 36.0| 75.0
3BhL |FE W= 42 42 84] 9.6 74.4 438hL | FFRE Mt 40 42 82| 7.2 74.8 4984 |—= FHHH 50 61 111] 36.0] 75.0
37194 [Tl BE 4 43 84| 9.6| 74.4 43961 | EE & 4 4 82| 1.2| 74.8 499 [RE ®miF 61 50| 111] 36.0| 75.0
3804z Yol EEER 42 42 84| 9.6] 74 4| AE 4401 ;2B =Ei 40 42 82| 1.2] 714.8|AE 500 |JE% Hif 41 39 80| 4.8] 75.2|AE
381 =)l HEE 40 44 84| 9.6| 74.4 44141 /ML BR 4 4 82| 1.2| 74.8 5014L |A3 1EH| 40 40 80| 4.8| 75.2
3826 |HAT Bt 42 42 84] 9.6 74.4 4461 ;5K RE 39 43 82| 7.2 74.8 50241 |21 E) 42 38 80| 4.8] 75.2
383 [ HE 44 46 90| 15.6| 74.4 4030 |=REB EBR 40 42 82| 1.2| 74.8 503 |EBf EE 39 41 80| 4.8| 75.2
3846 [Pl Rk 43 47 90| 15.6] 74.4 44440 [REBRT EIE 44 44 88| 13.2| 74.8 50447 |FEIEF EARER 39 47 86| 10.8] 75.2
385fi WA AR B 47 43 90| 15.6| 74.4 44561 AR FHHR 46 42 88| 13.2]| 74.8 505 |BH B2 40 46 86| 10.8| 75.2
3864 |fTA —ER 47 43 90| 15.6] 74.4 446461 | R EFF 45 43 88| 13.2| 74.8 5060 |H#ME HLE 45 4 86| 10.8] 75.2
387 [ BHE 45 45 90| 15.6| 74.4 476 [ BEF R2 45 43 88| 13.2| 74.8 50741 |#MEF 47 45 92| 16.8| 75.2
388hL |BE EE 43 47 90| 15.6] 74.4 44861 [RF Sk 45 43 88| 13.2| 74.8 5081 |EH FE 45 47 92| 16.8] 75.2
3896 |[tEAK HIF 42 48 90| 15.6] 74.4 44911 |FD FEARER 47 47 941 19.2| 74.8 509G |[fEAK BxX 44 48 92| 16.8| 75.2
3904 R JtBEA 50 46 96| 21.6| 74. 4|AE 4501z |mA B 49 45 94| 19.2] 74.8|AE 5106 | KRF &k 45 47 92| 16.8] 75.2|AE
391 |[BEiE B#t 43 53 96| 21.6| 74.4 4516 | KE EH 50 44 941 19.2| 74.8 51141 4% 58 51 47 98| 22.8| 75.2
392 |[ER 1B 50 46 96| 21.6| 74.4 4524x [itE = 46 48 94| 19.2| 74.8 5126 |[AR =2 48 50 98| 22.8] 75.2
3936 |HE EF— 52 44 96| 21.6| 74.4 4534 A0 B+ 47 47 941 19.2| 74.8 51341 |FlR =HF 51 47 98| 22.8| 75.2
39441 |f5EF B X 42 54 96| 21.6| 74.4 45441 /Mg Rt 46 48 94 19.2| 74.8 51461 |l &=.5& 48 50 98| 22.8] 75.2
395y |RE WM— 47 49 96| 21.6| 74.4 45541 [#AF ZEB 46 48 941 19.2| 74.8 5154 |BEE Srif 49 49 98| 22.8| 75.2
3964 |HFE  RRAE 50 46 96| 21.6| 74.4 45661 |EHA B 51 43 94 19.2| 74.8 51641 |ILFE IE4 48 50 98| 22.8] 75.2
397 [WME RBE 53 b5 108| 33.6| 74.4 4576 |[FE E 42 52 941 19.2| 74.8 517461 [db4&F BHA 48 50 98| 22.8| 75.2
398h |fBA EX 40 37 T\ 2.4] 74.6 4584y [0 #F 45 49 94| 19.2| 74.8 51841 |KH =% 51 47 98| 22.8] 75.2
39y |EE # 38 39 T\ 2.4] 74.6 45941 [BEFH HBF 46 48 941 19.2| 74.8 51941 [lLO #F 48 50 98| 22.8| 75.2
40042 |NIIE =— 37 40 11| 2.4 714.6|AE 46061 MR EE 43 51 94| 19.2] 74.8|AE 5207 [FEA &HF 50 54| 104| 28.8| 75.2|AE
4014 [48% 2 45 38 83| 8.4| 74.6 461141 [IBEA X 40 54 941 19.2| 74.8 5214 |fhil 3F 50 541 104] 28.8| 75.2
402 |[ILE HE 43 40 83| 8.4| 74.6 462461 /MR B8k 50 50| 100| 25.2| 74.8 52241 |=¢8 A BB 50 541 104] 28.8| 75.2
4034z [E)II = 41 42 83| 8.4| 74.6 4634 [l Fm— 55 45) 100 25.2| 74.8 523 |FE BHE 50 541 104] 28.8| 75.2
04 |BEX  FE] 4 42 83| 8.4| 74.6 4641 |AFHF EE 52 48| 100 25.2| 74.8 52441 AR BE 55 49 104| 28.8| 75.2
40561 R =|th 37 46 83| 8.4| 74.6 46561 |IUIR EF 54 46| 100| 25.2| 74.8 5254 |Fhi R 38 41 79] 3.6] 75.4
40661 |EBE ANE 42 4 83| 8.4| 74.6 46601 | = [ HE 47 53] 100] 25.2| 74.8 5260 |JEE BRF 42 43 85| 9.6] 75.4
4074z |FH EBHE 45 44 89| 14.4| 74.6 4676 R R 51 49] 100 25.2| 74.8 52741 [3IR FE 43 42 85| 9.6| /5.4
4084z |A)Il AE 44 45 89| 14.4| 74.6 468461 |kFH IR 51 491 100 25.2| 74.8 52841 |MNE L 36 49 85| 9.6] 75.4
40961 BRI X 42 47 89| 14.4| 74.6 469461 iE  iE— 52 541 106| 31.2| 74.8 5291 |[fEAK Rl 42 43 85| 9.6| /5.4
41061 |SFR 18 46 43 89| 14.4] 74.6| AE 4704 |t#E #EBZ 50 56| 106] 31.2| 74.8|AE 5304 AR FEdh 47 44 91| 15.6] 75.4|AE
1461 BB £H 42 47 89| 14.4| 74.6 47114z (B fE— 37 38 75/ 0.0] 75.0 53141 |[HE & 46 45 91| 15.6| 75.4
41261 |ERE & 46 43 89| 14.4| 74.6 47261 | BEXE 37 38 75| 0.0] 75.0 5324 B A 45 46 91| 15.6] 75.4
N |BiE = 44 45 89| 14.4| 74.6 AT =il 10 4 40 81 6.0] 75.0 53361 [EE —HB 47 44 91| 15.6| 75.4
A4 |RF B 4 48 89| 14.4| 74.6 47461 | KA 5hiE 41 46 87| 12.0| 75.0 53441 [#H FE 46 45 91| 15.6] 75.4
4561 | REH RE 4 48 89| 14.4| 74.6 475 Rl BBIE 42 45 87] 12.0| 75.0 5356 & whHY 4 50 91| 15.6| 75.4
416461 |[IUA BHEF 42 47 89| 14.4| 74.6 47661 &k & 42 45 87| 12.0] 75.0 5364 M FIK 49 42 91] 15.6] 75.4
A6 (fFE B 42 47 89| 14.4| 74.6 47161 |RER R 46 4 87| 12.0| 75.0 5371 |FHFH B 42 49 91| 15.6| 75.4
41861 |=8E whHY 44 45 89| 14.4] 74.6 41861 |&1E SEiC 40 47 87| 12.0] 75.0 5384L |FR B 47 50 97| 21.6] 75.4
41961 A XS 48 41 89| 14.4| 74.6 4794 |[ZIE BIE 43 44 87| 12.0| 75.0 53961 |HHEH Fi 45 52 97| 21.6| 75.4
42061 |17 F=EE 46 43 89| 14.4] 74.6| A B 480461 | KA XCHR 42 45 87| 12.0] 75.0|AE 54041 |#ME PR 50 47 97| 21.6] 75.4|AE
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HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s
HDCPFRE: (B) -5.0 (%) -5.0

B4z B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
54161 (LG =t 47| 50| 97| 21.6] /5.4 601 =€ M= 0] 42| 82| 6.0] 76.0 6611 |=HE il 40| 40| 80| 3.6| /6.4
524 | XA 43 54 97| 21.6] 75.4 6024z [#E<F JEIE 42 40 82| 6.0] 76.0 6621 |gElR E= 43 43 86| 9.6| 76.4
543 [IUE FIE 55| 48] 103] 27.6] /5.4 603 |map  Fa.a 39| 43 82| 6.0] 76.0 663 |25 RE 46] 40| 86| 9.6| /6.4
R 54 491 103| 27.6| 75.4 60461 |EE & 4 4 82| 6.0] 76.0 6644 |AO HE— 44 42 86| 9.6| 76.4
545fs |FH 75— 57| 52| 109] 33.6] /5.4 605 [IUA w2 0] 42 82| 6.0] 76.0 665 | KB Bk 45| 41| 86| 9.6| 76.4
5461 | MiE  RRAER 41 37 78| 2.4] 75.6 6061 |FE F&T 45 43 88| 12.0| 76.0 6661 &8 3B 43 43 86| 9.6| 76.4
50T | BR Em 41| 43| 84| 8.4] 5.6 6075 A S8 1| 47| 88| 12.0] 76.0 6675 (Ml B 46| 46| 92| 15.6| 76.4
5487 [MAAR Bk 44 46 90| 14.4] 75.6 608f |EH E 4 47 88| 12.0| 76.0 668 |EiE FHX 46 46 92| 15.6| 76.4
540 [5|lH B= 48] 42| 90| 14.4] 75.6 609 |mH B= 45| 49] 94| 18.0] 76.0 660 | KT 1B— 44| 48] 92| 15.6] 76.4
5506 |IUF A9 47 43 90| 14.4| 75.6|AE 61061 | AR &ixX 47 47 94| 18.0] 76.0/|AE 6/0 |4EH IEA 48 44 92| 15.6] 76.4|AE
5511 |B&3 THRF 45| 51| 96| 20.4| 75.6 61106 Al 49| 45 94| 18.0] 76.0 R FEEEE] 44| 48] 92| 15.6] 76.4
b524u |[fRIE  FIB§ 46 50 96| 20.4| 75.6 61261 2% FEZ 46 48 94| 18.0| 76.0 67261 |IFEAR 1R 43 49 92| 15.6| 76.4
553fL @l E=F 50| 46| 96| 20.4] 75.6 613 | BB R 47| _47] 94| 18.0] 76.0 673w |=iE JE— 41| 51| 92| 15.6] 76.4
o441 [MEE R 48 48 96| 20.4| 75.6 6144y |ZR ER 47 47 94| 18.0| 76.0 674G |[XH BE 48 44 92| 15.6| 76.4
5554 |4l FIE 43 53 96| 20.4| 75.6 61561 | KIE EE 47 47 94| 18.0| 76.0 6756 |5 EHh 46 46 92| 15.6| 76.4
bh6fhr |EBE = 44 52 96| 20.4] 75.6 61661 |&HH #— 46 48 94| 18.0| 76.0 6/64 |Fg8 ZBH 47 45 92| 15.6| 76.4
5576 MR = 49 47 96| 20.4| 75.6 61741 [EER 1@ 52 48| 100| 24.0| 76.0 6771 |HE BEA 49 49 98| 21.6| 76.4
558f |l =&l 49 47 96| 20.4] 75.6 61861 | #£X 43 57| 100| 24.0| 76.0 6/86 |RHE EE 46 52 98| 21.6| 76.4
559 |[=H B 51 51 102| 26.4] 75.6 6191 |EE MEX 51 49| 100| 24.0| 76.0 6796 |[HFI HEiF 44 54 98| 21.6| 76.4
5604 [ithEH # 52 50/ 102] 26.4| 75.6| A& 6204z |&=H XA 52 48] 100] 24.0| 76.0| AE 680G [ZBAAK {Z7 47 51 98| 21.6] 76.4|AE
5611 |heE  hea 53] 49| 102| 26.4] 75.6 6216 |/ =t 50| 50| 100] 24.0] 76.0 6811 |l e 49] 49| 98] 21.6] 76.4
5624z |KUE Hah 52 501 102| 26.4] 75.6 62261 |HIR HEE 52 48] 100| 24.0| 76.0 682 |[FE &% 48 50 98| 21.6| 76.4
5631 |HHE fEE 57 51 108| 32.4] 75.6 62341 |[tERK Z=/F 50 50| 100| 24.0| 76.0 68311 |BlR BRE 49 49 98| 21.6| 76.4
56461 | A —XK 53 55| 108| 32.4] 75.6 62461 /MR E1E 47 53| 100| 24.0| 76.0 68441 |SFE R 43 55 98| 21.6| 76.4
560G |HFR BN 49 591 108| 32.4| 75.6 6254 |[F)Il Fth 49 57| 106| 30.0| 76.0 6856 [FH WS 49 49 98| 21.6| 76.4
56660 ¥ < UT 58 56| 114| 38.4] 75.6 626f |[IeA = 57 55| 112] 36.0] 76.0 6864 |[FHIN F 49 49 98| 21.6| 76.4
567461 | R IE{E 4 36 711 1.2] 75.8 62761 |&H = 56 60| 116 40.0| 76.0 6871 |sFE ER 51 47 98| 21.6| 76.4
5681 |fEIE FHZL 41 42 83| 7.2| 75.8 62861 |RAA & 38 43 81| 4.8| 76.2 6884 |BEF FNth 49 49 98| 21.6| 76.4
56961 |BAK BF 42 4 83| 7.2| 75.8 6294 |BRE KA 40 4 81| 4.8| 76.2 689%; AR =% 54 50 104| 27.6| 76.4
5706 |JBEF i 42 4 83| 7.2| 715.8|AE 63061 |WAKR XK 44 43 87| 10.8] 76.2|AE 690 |F H2xX 50 54| 104] 27.6| 76. 4| AE
57141 |WE 81T 46 43 89 13.2| 75.8 6314z | EA % 44 43 87| 10.8| 76.2 69141 MR &< 5 53 51 104| 27.6] 76.4
572{« |hngE Hth 42 47 89| 13.2| 75.8 632z [1EH F%7E 43 44 87| 10.8| 76.2 6921 |FH S 3] 44 85| 8.4| 76.6
573 |ANR fifi— 46 43 89 13.2| 75.8 63346 |FHR % 46 47 93] 16.8| 76.2 693G |1FiE = 39 46 85| 8.4| 76.6
57461 | K&a EH# 46 43 89| 13.2| 75.8 6344 |FEEF B 48 45 93] 16.8| 76.2 69441 |1EFF &2 42 43 85| 8.4| 76.6
575 | K& EH 46 43 89 13.2| 75.8 63bfi [JIIG {2BR 47 46 93] 16.8| 76.2 6954 |pk/L  EEAI 42 43 85| 8.4| 76.6
REFIEEEEYS 46 43 89| 13.2| 75.8 6364 [BLAT FRA 44 49 93] 16.8| 76.2 6964 |AO F B 40 45 85| 8.4| 76.6
5TI6L ¥ Wz 44 45 89 13.2| 75.8 6371z |2 HF&HH 49 44 93] 16.8| 76.2 69761 |l EX 44 4 85| 8.4| 76.6
57841 |/hMfE {SBH 45 44 89| 13.2| 75.8 638hL |EF fEEn 49 50 99| 22.8| 76.2 6984L [iTI% = 46 39 85| 8.4| 76.6
5191 |RA MW= 40 49 89 13.2| 75.8 6391 |FE T Eif 49 50 99| 22.8| 76.2 6994 |1 BT 45 46 91| 14.4] 76.6
5801z |[/\E@ R 46 43 89| 13.2] 75.8|AE 6400 | dbe 3% 47 52 99| 22.8] 76.2|AE 10062 | RE &= 44 47 91| 14.4] 76.6|AE
58141 |BH 3t 4 48 89 13.2| 75.8 6414 |[##AR HRH 46 53 99| 22.8| 76.2 101461 (R BHES 48 43 91| 14.4] 76.6
5824 |HRIII EHA 42 47 89| 13.2| 75.8 64261 |BH%F RIT 48 51 99| 22.8| 76.2 S 46 45 91| 14.4] 76.6
58361 |IZ#% WMF 45 44 89| 13.2| 75.8 6431 |—= FHH 47 52 99| 22.8| 76.2 703461 |[BAFT  EGA 43 48 91| 14.4] 76.6
58441 |FEH BERF 46 49 95| 19.2] 75.8 64461 |BR ERE 49 50 99| 22.8] 76.2 1040 | FE FA 45 46 91| 14.4] 76.6
585 |HH EHE 43 52 95| 19.2] 75.8 6454 |Fx fB— 50 49 99| 22.8| 76.2 7056 | HE B 46 45 91| 14.4] 76.6
5861 [fBAR FEFE 47 48 95| 19.2] 75.8 6464 [ILTF ES 49 50 99| 22.8] 76.2 10641 %2 FA 45 52 97| 20.4] 76.6
5871 |iEw@ HBE 43 52 95| 19.2] 75.8 64761 |BH HE 48 51 99| 22.8| 76.2 7074 |t tEEE 46 51 97| 20.4| 76.6
588{u |MEIR JBIE 49 46 95| 19.2] 75.8 64861 B R=E 49 50 99| 22.8] 76.2 70842 |#)I EF 45 52 97| 20.4] 76.6
589f (&1L K¥H 49 46 95| 19.2] 75.8 6492 |NHA EF& 47 52 99| 22.8| 76.2 1091 |[ARE & 46 51 97| 20.4| 76.6
5904 |{EBE 2Tl 51 50/ 101| 25.2| 75.8| A& 65061 |FE A 55 44 99| 22.8] 76.2|AE 10462 |38 ARk 52 45 97| 20.4] 76.6|AE
914 3K &S 48 53] 101] 25.2| 75.8 65141 |ith E  E4 45 54 99| 22.8| 76.2 i IR 8= 46 51 97| 20.4| 76.6
5921 |XMR BH— 48 53] 101] 25.2] 75.8 652 |EBE ZR=E 48 51 99| 22.8] 76.2 1261 B BF 55 48| 103] 26.4| 76.6
59361 AR FHEF 51 501 101| 25.2] 75.8 65361 BN HEFD 53 52| 105| 28.8| 76.2 T3 | A HBE 49 541 103] 26.4| 76.6
544 A0 EBX 51 50/ 101] 25.2] 75.8 6544 |FFH 2 50 55| 105] 28.8| 76.2 i HIR BHEER 55 48| 103] 26.4| 76.6
595 |EM FB"— 49 52| 101| 25.2] 75.8 65561 |ATH 1Eth 52 53] 105 28.8| 76.2 71541 |#8H E— 47 56| 103] 26.4| 76.6
59641 (B FEWH 54 47] 101] 25.2| 75.8 6564 |FEA Z=BEH 56 49| 105| 28.8| 76.2 NG 51 52| 103] 26.4| 76.6
59761 |HhE &L 54 47) 101 25.2| 75.8 6574 [iAfH A 54 51 105| 28.8] 76.2 i |88 FX 51 52| 103] 26.4| 76.6
5981 |KE ME=E 50 51 101] 25.2| 75.8 65841 |fInEH ERRE 59 46| 105] 28.8] 76.2 1841 |BEF &M 58 51 109| 32.4] 76.6
5994 [ZIE —& 51 501 101| 25.2] 75.8 65961 |SHAT FJH 49 56| 105 28.8| 76.2 11961 |RE  Fill 56 53] 109| 32.4| 76.6
6004z | AKRJII [BE— 54 53| 107| 31.2] 75.8|AE 66041 |IUFZ SHE 40 40 80| 3.6 76.4|AE 720 [ithE 1E 60 55] 115] 38.4| 76.6|AE
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WMBAER A IULRYT fE Lib-: * ok ok ok x * * ok ok * * %
FTHUHIR . PARx 2 WTOPR®BDB®E®DO®O® INO®D@®®®®D®

HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s

HDCPFRE: (B) -5.0 (%) -5.0
B4z B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
AEEREE 56| 59| 115 38.4] 76.6 181 Bk B 45 55| 100] 22.8] 77.2 84 [T =& 57| 53| 110] 32.4] 77.6
1220 ek Ina 59 56| 115| 38.4| 76.6 18261 Al X& 51 491 100 22.8| 77.2 84241 | A IEH| 43 42 85| 7.2| 71.8
12306 B = 38| 46| 84| 7.2] 76.8 783G [HEA BT 50| 50| 100| 22.8| 77.2 8M3TL |—/ 3 =E 42| 43| 85| 71.2| 71.8
124461 [MAH RS 41 43 84| 7.2| 76.8 T84 |HH = 50 50| 100| 22.8| 77.2 84441 |[#AH HEE 46 45 91| 13.2| 77.8
7257 AR B 41| 43 84| 7.2] 76.8 785T% |RH & a) 55| 51| 106] 28.8| 77.2 845w |/NeE 1=BH a4 47| 91| 13.2] 71.8
12641 |[{RiE IEE 45 45 90| 13.2] 76.8 1866 |[BE ®= 54 52| 106| 28.8| 77.2 84641 |{EmE HIX 47 44 91| 13.2| 77.8
T |ERA Bx 441 46| 90| 13.2] 76.8 7870 /B = 47| 59| 106| 28.8] 77.2 8471 [IEH SAF 46] 51| 97| 19.2] 77.8
12860 | FRE  HH—R 46 44 90| 13.2] 76.8 788%c |/NE  ImAh 51 55| 106| 28.8| 77.2 8484 |4+ BASE 49 48 97| 19.2| 77.8
I FREEEED 48] 42| 90| 13.2] 76.8 T80 | TH & 49| 57| 106] 28.8] 77.2 840 (B BF 47 50| 97| 19.2] 77.8
T30z |2 EE 44 46 90| 13.2| 76.8|AE 190 =0 BH= 54 58] 112| 34.8| 71.2|AE 8501 X% BRE 50 47 97| 19.2| 71.8|AE
731w |[EHIL JEF 441 46| 90| 13.2] 76.8 191 A& EBEF 56| 56| 112] 34.8] /7.2 8511 |AH H= 48] 49| 97| 19.2] 77.8
1324 [\EE R 48 42 90| 13.2] 76.8 19240 |EiE 8 36 39 75| -2.4] 71.4 8521 ¥R JtiE 51 46 97| 19.2| 77.8
733 (LA =4 43| 47| 90| 13.2] 76.8 793 |/NR B— 43| 38| 81| 3.6 77.4 853 |FE B 49] 48] 97| 19.2] 771.8
13446 (Rl BEF 52 44 96| 19.2] 76.8 19441 [sRH ZEH 39 42 81| 3.6 71.4 84 [t 47 50 97| 19.2| 77.8
135 |[ExEH EF 46 50 96| 19.2] 76.8 719561 B E— 38 49 87| 9.6| 71.4 8554 | K#T #EXK 49 54| 103| 25.2| 71.8
R REGE S 47 49 96| 19.2] 76.8 7966 [IUE ARX 43 44 87| 9.6 71.4 861 |EFHF fE— 52 51 103| 25.2] 77.8
13761 [#BA REA 46 50 96| 19.2| 76.8 1974 |BER  E 46 4 87| 9.6| 71.4 8574 |pkE IEZ 50 53| 103] 25.2| 71.8
SRR A 50 46 96| 19.2] 76.8 719841 |EH Bt 44 43 87| 9.6 71.4 8H8f 1K HEE 48 55| 103] 25.2| 77.8
7394 |HEIE  th#H 47 49 96| 19.2| 76.8 7199 |[fH BZ 51 42 93| 15.6| 77.4 8594 |4+l BAZE 53 50| 103] 25.2| 71.8
740462 |[FAHE EE 47 55] 102| 25.2| 76.8|AE 8006 |MNiE iE— 46 47 93| 15.6] 71.4|AE 8601 |AKH #F 53 50 103| 25.2| 71.8|AE
14116 |15 Bz 54 541 108| 31.2| 76.8 8014 [l Z& 48 45 93| 15.6| 77.4 86141 A E Iz 51 58| 109| 31.2| 71.8
14240 |FFx  fB— 56 58| 114| 37.2] 76.8 8021 |[RIF HE 44 49 93] 15.6| 77.4 8621 |K#FHZF Al 56 53] 109] 31.2| 77.8
X VETEEEEDS b4 60| 114] 37.2| 76.8 8034z [/l RIsE 44 49 93| 15.6| 77.4 8634 |[#2% IEBH 54 55| 109| 31.2| 71.8
144461 [HIR BIL 64 501 114| 37.2] 76.8 804fL | NR =&l 45 54 99| 21.6| 77.4 8644z |BJII BEBEZE 53 56| 109| 31.2| 77.8
14540 | KA —if 45 44 89| 12.0| 77.0 8054 [l R HRER 47 52 99| 21.6| 77.4 86511 | K% & 50 65| 115] 37.2| 71.8
14660 |[FR IEAN 43 46 89| 12.0] 77.0 8061 |HE [ZH| 52 47 99| 21.6| 77.4 8661 |BA BAl 57 58] 115] 37.2| 71.8
TATGL [BEIR 18 48 4 89| 12.0| 77.0 80741 IR i 45 54 99| 21.6| 77.4 8671 |JIIE B 40 44 84| 6.0| 78.0
14861 |5 H RE 45 44 89| 12.0| 77.0 8084 [IUA HE 51 48 99| 21.6| 77.4 868 &1 J& 48 48 96| 18.0| 78.0
TA9GL 3EE BAER 43 46 89| 12.0| 77.0 8091 |FRER E 48 51 99 21.6| 77.4 8694 |3E)Il FIi 51 45 96| 18.0| 78.0
15062 [BR FEW i 50 45 95| 18.0| 77.0|AE 8104 |[Fhat W< F 50 55| 105| 27.6| 77.4|AE /0L | BE ©E 49 47 96| 18.0] 78.0|AE
15161 | B1E FH 48 47 95| 18.0] 77.0 8114z [#%& = 1ER! 54 51 105| 27.6| 77.4 871 Bl W 52 44 96| 18.0| 78.0
152461 |[=&F FOIE 47 48 95| 18.0] 77.0 8121 ;2B & 51 54| 105| 27.6| 77.4 81241 |HiE & 51 45 96| 18.0| 78.0
153 AR FR 48 47 95| 18.0] 77.0 8131 &8 TE 55 56| 111] 33.6| 77.4 87341 |#iiI BE 45 51 96| 18.0| 78.0
Th4AGL |BEF  IEAT 48 47 95| 18.0] 77.0 81441 |FAEF H 62 49| 111] 33.6| 77.4 I AR FHE 50 52| 102| 24.0| 78.0
75561 [BH HIH 46 49 95| 18.0] 77.0 815fu | KF #R 55 56| 111] 33.6| 77.4 8751 |JIIE =#*% 52 50] 102] 24.0| 78.0
JHIFETESS 49 46 95| 18.0] 77.0 8164 |fBIE JKF 61 56| 117] 39.6| 77.4 8764 [/l ZZ 49 53] 102| 24.0| 78.0
156 |BEH BF 49 46 95| 18.0] 77.0 8174z |MD i 54 63| 117 39.6| 77.4 N FEE 47 551 102 24.0| 78.0
7584 |[[EH 2 45 50 95| 18.0] 77.0 818HL |4EH B 39 4 80| 2.4| 71.6 8784 [/NA AE 51 51 102| 24.0] 78.0
75961 [KiE FWEE 47 48 95| 18.0] 77.0 8194 |[fE4<FH JEIE 4 45 86| 8.4 71.6 8796 |BEIR & 52 50] 102| 24.0| 78.0
76042 (O FEh 49 52| 101] 24.0| 77.0| AE 8201z |MHE ®F 40 46 86| 8.4] 71.6|AE 8804 |t HE 54 48] 102| 24.0| 78.0|AE
16160 |15k =IE 52 491 101 24.0] 77.0 8214 |SIE HE— 43 43 86| 8.4 71.6 8814 |EH =EB 54 541 108] 30.0| 78.0
16240 |[HFT #R—ER 50 51 101 24.0] 77.0 (YR ES 43 43 86| 8.4| 71.6 8821 |kFr AT 51 57| 108] 30.0| 78.0
1636 |HEHx RE 49 52| 101} 24.0| 77.0 82361 |HEIR A 4 45 86| 8.4 71.6 883%L |18k =i 51 57] 108] 30.0| 78.0
164461 [#2H  RE 52 49] 101] 24.0] 77.0 8244 ;IR = 4 45 86| 8.4| 71.6 88441 [iTHE ZH 51 57| 108] 30.0| 78.0
765 |F)l X8 51 56/ 107| 30.0] 77.0 825 B FB 46 46 92| 14.4| 77.6 8854 |ILA iE 48 60| 108| 30.0| 78.0
16660 | =& Sl 50 57| 107] 30.0] 77.0 8261 |=H 7l 45 47 92| 14.4] 71.6 8864 |HIR &L 57 57| 114] 36.0] 78.0
167461 [HE ER 54 591 113] 36.0| 77.0 827 |®H E— 44 48 92| 14.4| 71.6 8874 [EJI IEC 42 47 89| 10.8| 78.2
7684 |EFlR A 37 45 82| 4.8| 71.2 82841 |BIE =P 46 46 92| 14.4] 71.6 8884 | B = I3 48 89| 10.8] 78.2
1696 A EBRX 42 46 88| 10.8| 77.2 829 |[tEAK & 42 50 92| 14.4| 71.6 8894 |[FH EE 46 49 95| 16.8| 78.2
7062 |HO HA 45 43 88| 10.8] 71.2|AE 8301 | HF FEH 44 48 92| 14.4] 71.6|AE 8904z |&HE Mt 47 48 95/ 16.8] 78.2|AE
NS 44 50 94| 16.8] 77.2 83141 |#&IL HLER 45 47 92| 14.4| 71.6 8911 |=RE Z=HA 45 50 95| 16.8| 78.2
11260 |[BR AEF 47 47 94| 16.8] 77.2 832y Mk HRE 48 44 92| 14.4] 71.6 8924 ;O E— 49 52| 101] 22.8] 78.2
T3 (80 EE 48 46 94| 16.8] 77.2 833 [l 1EX 48 50 98] 20.4| 71.6 893 |[HEAR F— 50 51 101| 22.8] 78.2
TIAGL [h)ll SR 49 45 94| 16.8] 77.2 8344 | EIE  EiE 49 49 98] 20.4| 71.6 89441 |R# —Hk 57 44 101] 22.8| 78.2
756 | RE Ed 45 49 94| 16.8] 77.2 835 |#h IEfE 46 52 98] 20.4| 71.6 8954 [mA Bt 49 52| 101] 22.8| 78.2
71640 |[hiF M—ER 49 45 94| 16.8] 77.2 8361 | KB '1EIL 48 50 98] 20.4| 71.6 8964 |#EE 1E3R 49 52| 101] 22.8] 78.2
FESS = 51 43 94| 16.8] 77.2 RS 45 53 98] 20.4| 77.6 89741 |iEF BX 56 51 107| 28.8] 78.2
RECEE LS 49 45 94| 16.8] 77.2 838f e B 56 48] 104] 26.4| 71.6 8984 |AKFT #EXK 54 53] 107] 28.8] 78.2
SRS S 49 51 100| 22.8| 77.2 839 |KE BEE 52 52| 104| 26.4| 77.6 8994 |#0#f Emf 54 53] 107| 28.8| 78.2
FETEREES 48 52| 100| 22.8] 71.2|AE 84041 |EEAR = 59 51 110] 32.4| 71.6| A& 9004 |EH £ 54 591 113] 34.8] 78.2|AE
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FTHUHIR . PARx 2 WTOPR®BDB®E®DO®O® INO®D@®®®®D®
HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s
HDCPFRE: (B) -5.0 (%) -5.0

B4z B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
9011y |#EE =% 57 56| 113] 34.8] 78.2 9610 | AR Bk 56| 54| 110] 31.2| /8.8 10216 | =12 47| 47| 94| 14.4] 719.6
90241 | KiFE R—EHR 52 61 113 34.8| 78.2 96261 | KFT J|/2Z 56 541 110 31.2| 78.8 102261 | K¥§ EF 51 49 100 20.4| 79.6
903z ke A—ED 38| 44] 82| 3.6] /8.4 963z |/l &RIE 56| 60| 116] 37.2| 78.8 1023 |EEH 50| 50| 100| 20.4] 79.6
90441 |[HHA BZ 45 43 88| 9.6 78.4 9644z |[[EH B 59 57] 116] 37.2| 78.8 102441 |Efd F=x 49 51 100| 20.4] 79.6
905T% @A =i 46| 42| 88| 9.6] /8.4 966fc | AR =8 57| 59| 116] 37.2| 78.8 102500 [ERA falk 51| 49| 100| 20.4] 79.6
906fz /ML RE 40 48 88| 9.6 78.4 9664 | A 37 48 85| 6.0/ 79.0 10264 [1BR BA%R 52 48| 100| 20.4| 79.6
907 =k =i 42| 46| 88| 9.6] /8.4 L FEEE 44 47] 91| 12.0] 79.0 1027 /N Rk 53] 53| 106| 26.4] 79.6
9084 |[BHW EHE 42 46 88| 9.6 78.4 96861 ;D EEE 46 45 91 12.0] 79.0 10284z | EA EB 50 56| 106] 26.4| 79.6
900y (e XIE 45| 49| 94| 15.6] /8.4 960% |tk —= 46| 45 91| 12.0] 79.0 102962 KEJII _iE% 50| 56| 106| 26.4] 79.6
9104z |[#AH #F0E2 49 45 94| 15.6| 78.4|AE 070 =k B5 48 49 97| 18.0] 79.0/|AE 1030152 |4 ZF— 52 54| 106] 26.4| 79.6|AE
IR 47| 47| 94| 15.6] /8.4 0 =% Zik 50| 47] 97| 18.0] 79.0 10311 | AH #hEy 56| 56| 112] 32.4] 79.6
9121 | #HZ 47 53] 100| 21.6| 78.4 972461 Il BEX 46 51 97| 18.0| 79.0 103241 |BEH EBF 57 55] 112] 32.4| 79.6
913 |FH M= 49| 51| 100] 21.6] /8.4 973 |0 TE8 45| 52| 97| 18.0] 79.0 1033%z_|FfE =&F 57| 61| 118] 38.4] 79.6
M4 |[fEA K fRlL 51 49] 100 21.6| 78.4 9744y [ILO #HF 46 51 97| 18.0] 79.0 103445 [#L 2— 59 59| 118] 38.4| 79.6
9154 [Jb#T FEBR 49 51 100] 21.6] 78.4 97561 |=FEF B=X 50 4] 97| 18.0] 79.0 10354 [{BIlR AR 45 48 93| 13.2] 79.8
9164z [IUH ZiE 50 56| 106| 27.6| 78.4 97661 |FHLE WF 52 51 103] 24.0] 79.0 103641 |XH [BH— 46 47 93] 13.2] 79.8
97 Bl &= 53] 53| 106] 27.6] 78.4 776 [ME B& 50| 53| 103]| 24.0] 79.0 10376 |[IME Bz 46| 47| 93] 13.2] 79.8
9184t |[RE EHZE 54 52| 106| 27.6| 78.4 97841 |l 3R 52 51 103] 24.0] 79.0 10384 |HA 12\ 48 45 93] 13.2] 79.8
91942 [JINE ¥ 59 47| 106 27.6| 78.4 979 |[BAK  #5h 54 55| 109] 30.0| 79.0 10394z |FA BRE 44 49 93| 13.2] 79.8
9204 |#HHAH E— 55 57| 112] 33.6| 78.4| A& 9804z | EJR 481 53 56/ 109] 30.0| 79.0|AE 10404 AR 7% 46 53 99 19.2] 79.8|AE
9206 |&# =+ 59| 53| 112] 33.6] /8.4 08111 |[f#BHE #rF 54| 55| 109] 30.0] 79.0 10416 [8vF B— 46] 53| 99| 19.2] 79.8
9220 |=F & 57 55| 112| 33.6] 78.4 9824 |ILE HESH 52 57] 109] 30.0| 79.0 10424 |BH B 48 51 99| 19.2] 79.8
923 M jE— 56| 56| 112] 33.6] 78.4 083 e & 55| 60| 115 36.0] 79.0 10436 [(UEH &— 47| 52| 99| 19.2] 79.8
92441 [T =ES 63 55| 118] 39.6| 78.4 9844hL |FEIR  BUE 55 60| 115 36.0] 79.0 104441 |RIR S& 48 51 99| 19.2] 79.8
92561 |ER —4% 43 44 87| 8.4| 78.6 9851 |#HEF EF 43 4 84| 4.8| 79.2 10451 |[RKE MEsE 50 49 99| 19.2] 79.8
92642 |AJII F|E 45 42 87| 8.4| 78.6 9864 |iE/K EF 45 45 90| 10.8] 79.2 104661 | K¥E5 1BX 53 46 99| 19.2] 79.8
92711 |=J87 EBj 45 48 93] 14.4] 78.6 98741 |)I1G  {RER 46 50 96| 16.8| 79.2 104761 | X% B2 45 54 99| 19.2] 79.8
9284 |[#ELL B 49 44 93] 14.4] 78.6 9884 [#EH =1 49 47 96| 16.8| 79.2 104841 |18 FX 48 51 99| 19.2] 79.8
929f; |Bi5 E 48 45 93| 14.4] 78.6 989 |[{EE 1A 53 43 96| 16.8| 79.2 104941 |8 B 56 49 105] 25.2| 79.8
9304z [/MiE BEB{E 46 47 93| 14.4] 78.6|AE 99041 |BF HE 51 51 102] 22.8| 79.2| A& 10506 [ABA =E— 52 53] 105| 25.2| 79.8|AE
931 |&£F #BZ 48 45 93| 14.4] 78.6 9914z |&H Bj 50 521 102| 22.8| 79.2 10514 || —52 56 49 105| 25.2| 79.8
93241 |28 —& 48 45 93| 14.4] 78.6 99241 [;AfH 1IEX 56 46| 102| 22.8| 79.2 105240 |HH 38 55 50| 105] 25.2| 79.8
933 |BEH MF 46 47 93| 14.4] 78.6 993 &t EE 54 481 102| 22.8| 79.2 105341 Rl f535h 44 61 105| 25.2] 79.8
9344 | ARH ZZER 46 47 93| 14.4] 78.6 99441 [ RE %= 49 53] 102] 22.8| 79.2 105441 | B%E 58 53] 111] 31.2] 79.8
9356 |EH &F 51 48 99| 20.4] 78.6 9954 [FER  FhER 50 521 102| 22.8| 79.2 10554 | KZ = 57 541 111] 31.2] 79.8
9364L |t Bl 48 51 99| 20.4] 78.6 99641 |EEIR 1= 50 52| 102| 22.8| 79.2 105642 [/MA  AE 56 55] 111] 31.2] 79.8
937461 [JIWG 18BH 44 b5 99| 20.4] 78.6 9971 [BR £ 50 521 102| 22.8| 79.2 105741 [HE — 45 4 86| 6.0 80.0
9384 [/MER —Rk 51 48 99| 20.4| 78.6 [ EE =TS 55 47) 102] 22.8| 79.2 105841 |HF X 38 48 86| 6.0/ 80.0
93911 |SFE REB 45 60| 105 26.4| 78.6 9994 | K2 &I 55 53] 108] 28.8| 79.2 10594 ({88 &3k 50 42 92| 12.0] 80.0
9404z [;th B HE1T 47 58] 105 26.4| 78.6|AE 100042 | RFx #N=E 49 59 108| 28.8] 79.2|AE 106062 |BH = 44 48 92| 12.0] 80.0/|AE
94141 |ZH =9 50 55| 105| 26.4] 78.6 100141 [#&#M Eis 53 55| 108] 28.8| 79.2 106141 | KFE =EB 51 47 98] 18.0| 80.0
94241 | BAR FT 58 53] 111| 32.4] 78.6 100262 |1y B2 51 57| 108] 28.8| 79.2 106241 [ILA i 49 49 98| 18.0] 80.0
94341 |EF B 55 56| 111| 32.4] 78.6 10034z [JIIE &4 42 47 89 9.6 79.4 106311 [[Ei# = 50 48 98| 18.0| 80.0
94441 AR Bh 57 541 111] 32.4] 78.6 100462 |BHR BX 43 46 89| 9.6] 79.4 106441 |=d  a@lER 47 51 98| 18.0] 80.0
9454 [BIER = 59 58| 117| 38.4] 78.6 10054 [Hxf F=E 50 45 95| 15.6| 79.4 [ EREETS 48 50 98| 18.0| 80.0
94661 |&F BE 40 40 80| 1.2] 78.8 10064 [JII.E FOA 48 47 95| 15.6] 79.4 106641 |[#&EH REal 52 52| 104] 24.0] 80.0
94761 Al EHE 47 39 86| 7.2| 78.8 100742 |40 7= 48 47 95| 15.6| 79.4 1067461 |=58 IEE 48 56| 104 24.0| 80.0
9484 | AR fEHE 48 44 92| 13.2] 78.8 10081 | RE MBE 56 451 101] 21.6] 79.4 106841 |&HH AR 50 541 104] 24.0] 80.0
949 [HF Ez 46 46 92| 13.2] 78.8 100941 |FFFr & 51 50 101] 21.6| 79.4 10694 |gTEA Ei& 54 50] 104 24.0| 80.0
9504 |kl Eth 48 44 92| 13.2| 718.8|AE 101062 |RiE HEF 49 52] 101] 21.6] 79.4|AE 10704z |[#8A EZE 51 53| 104] 24.0| 80.0|AE
95141 [IEX FE 50 48 98| 19.2] 78.8 1011461 | K¥x 15 51 50 101] 21.6| 79.4 1071462 |FAHF = 50 541 104 24.0| 80.0
9524 |Ei= BH 51 47 98| 19.2] 78.8 10124 |#%8A& IEIL 43 58] 101] 21.6] 79.4 107261 | B3 &= 52 52| 104] 24.0] 80.0
9531 | KF &7 50 48 98] 19.2| 78.8 1013461 [HFH Hh 49 521 101] 21.6| 79.4 107341 |1 H MEX 48 56| 104 24.0| 80.0
95441 |HO = 45 53 98| 19.2] 78.8 1014462 | K% Ml 48 53] 101] 21.6] 79.4 1074 [IUO pE 50 60| 110] 30.0] 80.0
95561 |F#&k EE 47 51 98| 19.2] 78.8 10154 [0 183 58 49| 107| 27.6| 79.4 107542 [JIIE  ¥F 51 65| 116] 36.0| 80.0
9564 |FH ®HE 50 48 98| 19.2] 78.8 101642 |LU4R  5hd 52 55| 107] 27.6] 79.4 107641 |ER FaJx 58 62| 120] 40.0| 80.0
95741 | LMaF 51 53] 104| 25.2] 78.8 101740 |hOfk BE 51 56| 107 27.6| 79.4 1077461 [ILN 55 44 47 91| 10.8] 80.2
9584 | K X 56 48| 104| 25.2| 78.8 10184 |l =4 55 58] 113] 33.6| 79.4 107841 | A= 47 44 91] 10.8] 80.2
9504 [iA[¥y FH 55 49| 104| 25.2| 78.8 101941 [Ex B 60 591 119] 39.6| 79.4 107941 | & EA 50 47 97| 16.8| 80.2
9601 |[KE T 52 52| 104| 25.2| 78.8|AE 102042 |HE [Eig 45 49 94| 14.4] 79.6|AE 10806z [ithE & 51 46 97| 16.8] 80.2|AE
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FTHUHIR . PARx 2 WTOPR®BDB®E®DO®O® INO®D@®®®®D®
HDCPEPR: (5) 40.0 (Z) 40.0 5 BEIERL - NET-HDCP - £ BB - A kv s
HDCPFRE: (B) -5.0 (%) -5.0

B4z B EA OUT |IN GROSS| HDCP | NET JIE f52 HHEA ouT |IN GROSS| HDCP | NET =¥ iva B E A ouT |[IN GROSS| HDGP | NET
10816 |MA FA 48] 49 97| 16.8] 80.2 14162 [H7A K& 53] 57| 110] 28.8] 81.2 12016 ML & 63| 56| 119] 36.0] 83.0
108261 |[AAR FZ 51 52| 103| 22.8] 80.2 114262 [IUA BA 51 59] 110] 28.8| 81.2 12024 |&#& 2 60 591 119] 36.0| 83.0
1083% =8 =4 57| 52| 109] 28.8] 80.2 114360 [ RN fE— 60| 56| 116 34.8] 81.2 12036 3R med 41| 47| 88| 4.8] 83.2
10844 [IZ& Im+F 54 55| 109| 28.8] 80.2 1144461 |h4T 18X 45 46 91| 9.6| 81.4 120441 [BR =& 54 52| 106| 22.8| 83.2
10850 == fB= 45| 45 90| 9.6] 80.4 [ EIEET:S 45| 52| 97| 15.6] 81.4 120500 [BER Z— 56| 50| 106| 22.8] 83.2
10864 |SP&  [EBH 44 52 96| 15.6| 80.4 1146461 |[2H £FT 50 53] 103] 21.6| 81.4 120641 |#i K —F 57 61 118| 34.8] 83.2
10876 {2k Bi%m 50 52| 102] 21.6] 80.4 [ FENCEE 7N 58] 51| 109] 27.6] 81.4 12076 |30 IEH] 42| 51| 93] 9.6| 83.4
10884L |k FoR 49 53] 102| 21.6] 80.4 114841 |BAH #&BE8 62 53] 115] 33.6| 81.4 12084 |FHEH %05 47 52 99| 15.6| 83.4
1080%% | &hm  RE= 50 52| 102] 21.6] 80.4 11496 | RE BE 52| 50| 102] 20.4] 81.6 120972 /N8l =& 57| 54| 111] 27.6| 83.4
10904 |BEH = 53 55] 108| 27.6| 80.4|AE 115061 |[BA K& 48 541 102| 20.4| 81.6|AE 12104 |[Mnge &E 59 58] 117] 33.6| 83.4|AE
10916 | AH BT 52| 56| 108] 27.6] 80.4 [IEET 50| 52| 102] 20.4] 81.6 12116 [l s 57| 60| 117] 33.6| 83.4
109241 [FEJR  5hER 53 55| 108| 27.6| 80.4 115241 | KT =H& 53 55| 108| 26.4| 81.6 121201 |=ke #0F 62 61 123] 39.6| 83.4
10936 R #&X 52| 56| 108] 27.6] 80.4 115360 |[#k  XF 54| 54| 108| 26.4] 81.6 12131z |fFR E— 59]  64] 123] 39.6] 83.4
109441 [#8H n— 56 58| 114| 33.6| 80.4 11540 |BA Ba 52 56| 108| 26.4| 81.6 121441 IRAX  finx 57 66| 123] 39.6| 83.4
10954 [48F Fith 59 61 120 39.6| 80.4 11554 Ak fiF 62 52| 114| 32.4| 81.6 12154 |t fe— 50 54| 104 20.4| 83.6
1096461 | A& BZ 47 48 95| 14.4] 80.6 11564z 8] FE 57 57] 114] 32.4| 81.6 12164 |& LY 56 541 110] 26.4| 83.6
109741 [kE [B— 38 57 95| 14.4] 80.6 115742 |EH 58l 57 57| 114| 32.4| 81.6 1217461 |[#38y E+ 51 53| 110| 26.4| 83.6
[ RES I 43 52 95| 14.4] 80.6 115861 |§F F# 44 51 95| 13.2| 81.8 121842 |%&@E FS 53 63| 116] 32.4| 83.6
10994z =l @2 50 51 101| 20.4] 80.6 11594 [JIlA 1EX 53 48| 101] 19.2| 81.8 121967 (ML FEE 57 59| 116| 32.4| 83.6
11004 [JBil &F 46 55] 101| 20.4| 80.6|AE 11600z | Al = 50 51 101 19.2| 81.8|AE 12204 |l GEER 61 61 122| 38.4] 83.6|AE
11014 | KH B+ 58 49| 107| 26.4| 80.6 1161461 3Efk B 53 54| 107 25.2| 81.8 122141 |Fa BB 46 63| 109 25.2| 83.8
11024 [;HEH EEj 55 52| 107| 26.4] 80.6 116261 [ JTid 54 59] 113] 31.2| 81.8 12221 &R Eth 54 61 115| 31.2] 83.8
110361 [IUA & 57 56| 113] 32.4| 80.6 116341 [IEH R%— 64 b5 119] 37.2| 81.8 122341 |RIE Fif 50 52| 102| 18.0| 84.0
110461 [IUAR & 56 57| 113| 32.4] 80.6 1164460 ER At 56 63| 119 37.2| 81.8 122441 |SH 3B 51 51 102| 18.0] 84.0
110541 |=H 55 58| 113] 32.4| 80.6 116561 | R#T #Ex 54 52| 106 24.0| 82.0 122542 [BRH FEW 5 55 53| 108| 24.0| 84.0
11064z |=ir 1EZE 42 52 94| 13.2] 80.8 116642 |FEIL BE 50 56| 106 24.0| 82.0 122641 |Rith W= 57 51 108| 24.0| 84.0
I CETTEES 47 47 941 13.2] 80.8 1167461 [BER JLh3E 50 56| 106| 24.0| 82.0 122741 |FriE 88k 55 59| 114] 30.0| 84.0
11084 |[F#&)Il ¥+ 49 51 100] 19.2| 80.8 11684 |RlAT B 53 53] 106] 24.0| 82.0 122842 [FJII &= 58 62| 120 36.0| 84.0
11094 |R& EF 49 51 100] 19.2| 80.8 11694z A &K 53 591 112] 30.0] 82.0 122941 [3EH B 64 56| 120] 36.0| 84.0
11106 |88 —% 51 49] 100 19.2] 80.8|AE 1170462 /N8 ERE 47 46 93| 10.8] 82.2|AE 12304 |2H &2 52 72| 124| 40.0| 84.0|AE
111142 |k 1EZ 52 54| 106| 25.2| 80.8 1171461 |ER % 48 51 99| 16.8| 82.2 123141 KB BfE 55 58] 113] 28.8| 84.2
111261 [FIU BE 53 53] 106] 25.2| 80.8 117241 [RE 1§ 47 58| 105| 22.8| 82.2 123241 &8 T2 55 58] 113] 28.8| 84.2
[ECEETEETS 52 54| 106| 25.2| 80.8 117361 | KIE #B7%= 48 63| 111 28.8| 82.2 1233461 [I[hA #B= 54 65| 119] 34.8| 84.2
1114461 |BERE  HRiEF 52 60| 112| 31.2] 80.8 117460 |Hh 25§ 56 55| 111] 28.8| 82.2 123441 &R ) 58 61 119| 34.8] 84.2
1115461 [#aK #Z b5 57| 112| 31.2] 80.8 117561 |3 &S 52 591 111] 28.8| 82.2 12354 [jEA &k 47 47 941 9.6| 84.4
11164 [ILE #FFH 52 60| 112| 31.2] 80.8 117660 |78 1§ 62 55| 117] 34.8] 82.2 12361 | RE 7 50 62| 112| 27.6| 84.4
11761 JIAR FE 57 61 118 37.2| 80.8 117760 B & 59 58] 117] 34.8| 82.2 123761 | RE FRiF 59 53] 112] 27.6| 84.4
111841 |EIAT HfE 60 58| 118] 37.2| 80.8 117861 |BR —3F 45 47 92| 9.6| 82.4 123841 |[1ER BA% 58 541 112] 27.6| 84.4
111947 |BBi% B2 54 39 93] 12.0] 81.0 117961 [B¥E —F 51 47 98| 15.6| 82.4 123941 |&F A8 61 57] 118] 33.6| 84.4
112061 [BElR —X 50 49 99| 18.0| 81.0|AE 11804 |3E ABHE 49 55| 104] 21.6| 82.4|AE 124042 |[EH #2BH 60 64| 124] 39.6| 84. 4| AE
112161 [ F& 53 46 99| 18.0] 81.0 11814 |FHHE (FLN T 49 61 110] 27.6| 82.4 124161 |EXR KR 50 49 99| 14.4| 84.6
112241 | Tl EBEF 52 53] 105| 24.0] 81.0 11824 |Jetl & A 48 43 91| 8.4| 82.6 124241 |IEO  18[& 55 62| 117] 32.4| 84.6
112341 |[E%F  Z08k 50 55| 105 24.0] 81.0 11834 |IUA [E= 47 50 97| 14.4| 82.6 124341 ¥ FEEsh 54 63| 117] 32.4| 84.6
112461 [3RE #/F 54 51 105 24.0] 81.0 118441 e fEE 52 45 97| 14.4] 82.6 124441 | BB Ef 62 61 123] 38.4] 84.6
112542 [#8&X #n3 57 54| 111] 30.0] 81.0 11854 4B HETF 52 51 103| 20.4] 82.6 124541 | RHE #2BA 59 64| 123] 38.4| 84.6
112641 [Hep Zi 51 60/ 111] 30.0] 81.0 11860 | eie =7 58 57| 115] 32.4] 82.6 124641 |[EFT FF 50 541 104] 19.2] 84.8
1127461 [HIR 2L 53 58| 111] 30.0] 81.0 118741 |3 K& 55 60| 115 32.4| 82.6 124761 2R 12 50 541 104] 19.2| 84.8
112841 [IUEH Xith 53 58] 111] 30.0] 81.0 11884 |IU& &F 64 57| 121] 38.4| 82.6 124841 (IO &k 53 63| 116] 31.2| 84.8
112961 [;XE & 60 51 111] 30.0| 81.0 118941 |k1E 4 50 52| 102 19.2| 82.8 124941 ([ R% EBE 55 541 109 24.0| 85.0
11304 [#AE = 56 61 117] 36.0] 81.0| A& 11904z |FEE 18 50 52 102 19.2] 82.8|AE 12504 |fngE &b 54 61 115] 30.0| 85.0| A&
113146 |[=3k 1EE 46 52 98| 16.8] 81.2 1191461 Bl i 48 541 102 19.2| 82.8 12514 |Fx &R 51 700 121] 36.0| 85.0
113261 | A& [EE 48 50 98| 16.8] 81.2 11924z [ialH 18X 49 59| 108| 25.2| 82.8 125241 [ILUA EFih 60 65| 125] 40.0] 85.0
11336 |BF ®WX 50 54| 104| 22.8] 81.2 119361 [ XE &k 52 56| 108 25.2| 82.8 125341 JBH 1EHEH 65 60| 125 40.0| 85.0
11344 | Fd W 53 51 104 22.8| 81.2 119441 | &Il (=] 52 62| 114] 31.2] 82.8 125441 | K& BHHF 64 56| 120] 34.8] 85.2
113561 |BAR % 47 57| 104| 22.8] 81.2 119541 |HE A 60 541 114] 31.2| 82.8 12554 |#EiE =R 51 50] 101] 15.6| 85.4
11364 [/ ZEH 50 54| 104| 22.8] 81.2 119642 |#8 F B 57 63| 120 37.2| 82.8 12564 |EJR 1E2 52 55| 107] 21.6| 85.4
113761 |ARHE  Fl4T 53 57| 110| 28.8] 81.2 1197461 [WME = 61 59| 120| 37.2| 82.8 12571 |FEiL #o= 51 56| 107| 21.6| 85.4
113841 |[HA #F 60 50/ 110] 28.8] 81.2 11984z |BH &ah 51 44 95| 12.0] 83.0 12584 [fERKR & 59 60| 119] 33.6| 85.4
11394 [{Emk dh=E 49 61 110| 28.8| 81.2 119941 |;ZH IS 46 49 95| 12.0| 83.0 125000 | &k ®me 58 61 119| 33.6| 85.4
11404z [/hAR ZR5h 54 56| 110] 28.8] 81.2|AE 120042 |Ad & 46 55| 101] 18.0| 83.0|AE 12604z |BTH #L— 58 61 119| 33.6] 85.4|AE
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SFSETA noF5oauR

2003 &% 1 B 28 (H) ~2023%7 A83 8 (A

BmEAE TR T 2L ok ok ok X * ok ok ko k%
FTEMHIFR : PAR x 2 WOORDOO®DO®® IN (o @ (2 @ (® @ (@® @ @©®
HDCPER: (5) 40.0 (%) 40.0 % BEIEL - NET - HDCP - £ AR - oY hNw s
HDGPTRR: (8) -5.0 (%) -5.0

Iz BmERES 0UT [IN  [GROSS| HDCP| NET | IEfr | AL loUT [IN  [GROSS| HDCP | NET | | | B | AL oUT |IN  [GROSS| HDCP | NET |
126161 |$5K RBE 51 55| 106) 20.4] 85.6
12621 /M R9r 54| 52| 106] 20.4] 85.6
1263fu W% (28 58 54| 112) 26.4] 85.6
1264%% [IBA Hak 95 57| 112] 26.4] 85.6
12650y |'=hE 5 61 63| 124) 38.4] 85.6
126661 | % +H—BA o4 63| 117] 31.2] 85.8
126761 [2E #sh 62 55| 117) 31.2] 85.8
1268fu |H# L ol 66| 123] 37.2] 85.8
126961 | BH = 52 52| 104) 18.0] 86.0
12701 |5k Hm 64| 62| 126] 40.0] 86.0|AE
127142 [/ 4R BhER 56 68] 124) 37.2] 86.8
127261 |#iF  #th 63 60| 123] 36.0] 87.0
1273y | H)Il E=EE 50 60 110) 22.8] 81.2
12744 [k BR 63 59| 122| 34.8] 87.2
127542 [/M¥k 1E8F 55 54| 109| 21.6| 87.4
1276f% [1BA ok 61 48] 109 21.6| 87.4
127761 [#HLL & 65 62 127) 39.6]| 87.4
1278 |[§H HEF 58 62| 120] 32.4] 87.6
127961 | &t R1T 61 65| 126] 38.4] 87.6
12806z |&H iS% 49 70[ 119] 31.2] 87.8| AE
1281fs A FTE 64 64 128] 40.0] 88.0
12821 =i 2 60 68 128 40.0] 88.0
128361 |B&lR FH2 51 60 111] 22.8] 88.2
128461 [HfE FEX 61 56 117] 28.8| 88.2
12854 | 18 55 66) 121) 32.4] 88.6
128661 |[#hEE Hx 63 62| 125| 36.0] 89.0
128761 | =R 56 69 125 36.0] 89.0
128861 |RA HIERD 62 67] 129] 40.0] 89.0
1289 |EK 85 54| 68| 122 32.4] 89.6
129061 |F& %) 67 63| 130 40.0] 90.0|AE
12911 [PaTR  EHER 66 64| 130] 40.0] 90.0
129215 fERKR FIFE 52 61] 113] 21.6] 91.4
12936 [WLR el 61 711 132] 40.0] 92.0
129461 |[#2A ZEX 66 66| 132] 40.0] 92.0
12950 [ W& 64 68 132] 40.0] 92.0
12964 [LUEH R 60 71 131] 38.4] 92.6
129761 k3 Fi#4 62 711 133] 40.0] 93.0
129861 |l Kis 64 69 133] 40.0] 93.0
12994 [HF HES 63 711 134] 40.0] 94.0
130067 [ZRF+ BRR 68 66| 134] 40.0] 94.0|AE
130161 &K =F 67 68 135 40.0] 95.0
13026 |#gH 42— 66 70/ 136] 40.0] 96.0
1303fu |RIE  REaK 66 711 137] 40.0] 97.0
13044 | Ef = 67 68 135] 37.2] 97.8
13051 [fEm %= 68 70/ 138] 40.0] 98.0
130662 |[#HEI #2ER 66 72| 138] 40.0] 98.0
13074 [#%H BEF 70/ 68 138] 40.0] 98.0
13086 |[#N% fth 74| 65 139] 40.0] 99.0
1309f [JkF+ F# 11 76] 147] 40.0[107.0
131067 5K #R 74| 74| 148] 40.0]108.0|AE
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